
Example 8: Consider the vectors

v1 =


1

0

0

0

 , v2 =


0

1

1

0

 , v3 =


1

1

1

1

 , v4 =


0

0

0

1

 (5)

Since v3 = v1 + v2 + v4 we have that v3 is in span(v1,v2,v4) and hence by theorem 3

span(v1,v2,v3,v4) = span(v1,v2,v4) (6)

Example 9: For any vectors v1, . . . ,vi−1, . . . ,vi+1, . . . ,vn in Rm we have

span(v1, . . . ,vi−1,0,vi+1, . . . ,vn) = span(v1, . . . ,vi−1,vi+1, . . . ,vn) (7)

by theorem 3 since 0 = 0v1 + · · · + 0vi−1 + 0vi+1 + · · · + 0vn.

Example 10: Consider the vectors

v1 =


1

1

1

1

 , v2 =


1

0

0

1

 , v3 =


0

1

1

0

 , v4 =


2

2

2

2

 , v5 =


−1

0

0

−1

 , (8)

Show that span(v1,v2,v3,v4,v5) = span(v1,v2).
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